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Answer ALL questions. Write your answers in the spaces provided.

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box $¢ and then mark your new answer with a cross X.

Figure 1 shows the market for tea.
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Figure 1

(@) (i) InFigure 1 the shift in the demand curve from D to D, is most likely to have
resulted from
(1)

an increased preference for tea by consumers

an increase in the price of tea

O o oo

A
B a health scare concerning the safety of drinking tea
C
D

a fall in consumer incomes
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Global tea prices are forecast to rise in the international market this year.
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(i) Identify and briefly explain two supply factors which might explain this trend.
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(b) (i) Define the term price elasticity of demand.
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(

Table 1 shows the relationship between price elasticity of demand and total
revenue. Fill in the missing words in Table 1.
(3)

Price elasticity of demand | Price change Effect on total revenue

Elastic Fall (i)

Elastic (iii) Decrease

(iv) Increase Increase

Table 1

(v) It has been suggested that the demand for tea is more price elastic than
the demand for fuel for cars. Do you agree with this statement? Explain
your answer.
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(c) (i) Identify and briefly explain one factor that may determine the demand for
tea workers.
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(

) With the aid of a diagram, explain what might happen to wage rates and
employment for tea workers if the demand for tea increases. Draw your
diagram in the space provided.
(5)

Wage
rate

Number of tea workers employed

Explanation
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(d) Examine the reasons why both the public sector and the private sector produce
goods and services in a mixed economy. Illustrate your answer with
relevant examples.
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(

2 (a) (i) Define the term productivity of labour.

(i) Explain two ways a firm could increase the productivity of labour.

2.

Factors of production are resources used to produce goods and services in
an economy.

(i

ii) State the two missing factors of production.

1 Land
2 Labour

4

(2)
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Define the term internal economies of scale.

(b) (i)

In 2010 British Airways and lberia Airways joined together to form IAG, Europe’s
third largest airline. One reason given for the merger was that the combined larger
company (IAG) would be able to benefit from internal economies of scale.

(i) Discuss the extent to which the merger between British Airways and Iberia
Airways will benefit consumers.
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Handmade sweets, usually sold in small independent shops, are becoming popular in
the United Kingdom.

(c) (i) Identify one possible example of a variable cost for this type of sweet shop.

(1)

(i) Explain why the example you have given in (c)(i) may be considered a variable cost.
(2)
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Table 2 shows cost information for a sweet shop. Fill in the missing values in Table 2.

(3)

Space for workings if required.

(vi) Each bag of handmade sweets is sold for £1.50. How much profit is made

ings.

? Show your work

when the shop sells 300 bags

(2)
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( )

(d) The main reason governments try to influence the location of firms is to provide a
solution to the problem of regional unemployment. To what extent do you agree
with this view? Give reasons for your answer.

(Total for Question 2 = 30 marks)
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(i) Briefly explain what is meant by frictional unemployment.
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( )

(i) Expansionary fiscal policy will always reduce unemployment. Do you agree
with this statement? Give reasons for your answer.

(6)

14
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(b) (i) Using the data in Figure 3, describe what happened to prices in India from
2014 to 2015.

A A AN
A
¥ XS <%

2
N
A
%
505

oy

.
e
s

5
]
stels:
5

“
-

Sttt e
&

o

“
&

s

%
o

it

s

o
>
&

53

>
o

s

£

5505
W
Oqﬂf

5

i

>
Sty
o

2

KK X
<

ks
.
e

o

%
e
s

&
A

Foteleds,
s
S
Peatatette

iy

b

g N

s

i

.
o

X

o

7
e

&

!
o

o0

s

tatatetetity!

M R
Mt

e
i,
s,
‘.

i
.
<

iy
ol
%
%
%
505

olels
&

e

7
L
i
o

o

%
a»

s

o

gt
gt
betale

s

o
S
052
k%
ot
%

.
o
o
A
"
L

&

N
&

o

(i) Briefly explain the effect on the Indian Consumer Price Index if food prices in
India rise over the coming months.
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(

(iii) Identify and briefly explain one reason why higher inflation may lead to an
increase in business costs.

(c) (i) Briefly explain one reason why protecting the environment is an increasing
concern for governments.

(i) Identify and briefly explain two methods that governments may use to
protect the environment.
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(i

ii) Protecting the environment may have a negative impact on economic
growth. Do you agree with this statement? Give reasons for your answer.
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(

4 (a) (i) A US firm buys £500 000 worth of goods from a British firm. If the exchange rate
is £1=51.50, what is the cost to the US firm in dollars ($)? Show your workings.

Complete Table 4 below to indicate how each change might affect the value of US $.

(3)

Changes affecting exchange rate Appreciate Depreciate

(ii) The demand for imports falls in the US | |
@i

(iv) Currency speculators expect the X =
exchange rate of US $ to rise

ii) The rate of interest falls in the US O O

Table 4
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(v) With the aid of a diagram, explain your answer to (a)(iv). Draw your diagram in
the space provided.

o
28
L
5 S e
R

¥

oyt

i

o
o

et

*
.

o

(5)

o
‘A

K-

A

‘-
o

"
et
%
A

S

o

K x
e

CH

o
)

oo
bt
25
) o
f

ol

*
£
£
e |
AY
el
!

o
Qg
o
!
o

-
<

.,

s

e
T
2!

o

,

>
Iyt

K,
byt
ofetatets

s

-
¥ Y

Exchange rate

oo
Y
B

¥,

£
o::'

“
>
2
.

o
e
.

5
S
R

o0

o
L
T

ot

o0

o

e

5325

S
3
03
betale
bita%s

o

o
<
G0
e
o

LA
{5
L
S
X

ol

L
.0
"

£
N

“
o
by

o
T

ot

et !
2%
42!
Sl
Folals!

o
e

5
4
ot

ot
o
L
4
55
%25

Quantity of US $

£
LR

€L

e

“

>
*

A
S
St

5
5%

)
o

e
4
&

<
%
£
bt
5

Petatetettetetetatets)

-
L
s
%’

o
£
i
i
.

‘7

Explanation

ot
.‘9:
I,
2!

b
a,
‘o
o

o
5

&

.
e
X3
r

et

<>
bt
<y’
5
AT
otats!

N

oy s
S

3,
e
petet

e
M
g

%

ialels!

Sidy
atede

ot
platst

-
ol

”.‘.
Pt
btelite:
LI

tatelelatels’

“
e
L2
o

ot
ol
:":
buts

Qp
S
<

et

ool

&

iy
<
o
o0

2%

200
bt

25

s,
&,
‘.

)

&

M X
S

A

o
"

5

£
it
X HH
" é

)

¥

!
%
S

bt
5
X%
etetels
bty

0:,0 ot
bl
Pitatels!

"
N

o
)

O e

-
ole!
Sl

“
i

L
el
K o oA
24%ete%,

o

o

o SIS o

0
e
oy

ot

o
a

.

>

o
SRR
=
2,
it

<

L
6
%u
€

%&{00
)

&

2
2]
23]

2

o
"

>

K
o

o
4

ooyt
joees
2535
K

L5
i

i
o
<

el

ool

.
‘o
Lt
.’
o

s

o

ote!
!
ool

ool

o
e
KK

ot

o0

o

P
2

>
&
o
&

25
Iatele’s
S
itels!
ottt

i

o
>

.

B
o

o
o

i
rots
&5
%

W
b

<

-
oo}
ool
e,
ot

o

. J
19

NN O A D O A A —
Turn over »
P 4 5 9 1 6 A0 1 9 2 4 urnove

o




www.gradesuk.com
]
(~ )

T
ol
ptelet

o

:00
R
B
.

R
G

e
ettty

e

.
o
G
%%”

i

o

o
4

0
A

S
P
i

(b) (i) Briefly explain what is meant by the development gap.
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(i) Briefly explain two disadvantages of globalisation.
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(iii) To what extent is development aid likely to lead to an increase in economic
growth in developing countries? Give reasons for your answer.
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r

(ii) The US is considering the imposition of a tariff on Chinese tyres. Examine the
effects of this tariff on the US economy.
(6)

(Total for Question 4 = 30 marks)

TOTAL FOR PAPER = 120 MARKS
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